
Subject: Re: why do not the results agree?
Posted by David Fanning on Thu, 21 Apr 2005 03:14:32 GMT
View Forum Message <> Reply to Message

lixiaoyao writes:

>    Are you aware the in the two cases,the cross(intersection point) are
>  not same.in the case one,the intersection point is in (0.5,1),this is
>  right.but in the second case,the intersection is in about(0.28,0.42),I
>  do not think this is correct. DO I have something
>  wrong there?

I don't know what you mean by the "intersection", but
are you aware that if you run the program I wrote you and
overlay the second plot on the first that the lines
overlap *exactly*. I would say that makes them the same
line. 

Cheers,

David

-- 
David Fanning, Ph.D.
Fanning Software Consulting, Inc.
Coyote's Guide to IDL Programming: http://www.dfanning.com/
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